) TRUCKEROBUGTS

gptruckproducts.com.au

STYLE GP-576
{ HOSE BARB FEMALE RUN TEE
STYLE GP-064 Imperial / Mefric Includes Thrust Washer & O-Ring STYLE GP-3405
STYLE G P- 02 4 ;I;:.r’ign:f:(es Thrust Washer & O-Ring TEST POINT
REDUCING BUSHES PART # HOSE FEMALE NPT ool
Imperial -
STYLE GP-027 B METRIC STYLE GP-073 f;gtgﬁ; ;‘A5Rg GP-576-08M16F06  1/2 M16  3/8 PART # NPTF
PART# NPSF NPT 3::& NIL:II::;SS Nut, Thrust Washers & O-Rings GP-064-M12A M12 ONESUALHEXSNITE imperial
i ' . Imperial -~ GP-3405-06 3/8
GP-024-0204 1/8 1/4 . T GP-064-M14A M14 _— ot - PART # HOSE NPT = y 7
GP-024-0206 1/8 3/8 e STYLE GP-3405
GP-027-M22A M22 B A Ll 50750402 " " GP-450-0806 112 3/8 TE R
GP-024-0208 1/8 1/2 GP-064-M22A M22 Metric Includes Thrust Washer & O-Ring
GP-024-02012 18 3/4 M14 comes with flat washer only BP-073-0602 " 8 PART # METRIC
GP-024-0406 1/ 3/8 GP-073-0604 38 ol GP-3405-M16A M16
GP-073-0608 38 112 STYLE GP-575
GP-024-0408 1/4 172 HOSE BARB BRANCH TEE
GP-024-04012 14 3/4 B 2 L Ingecbetc
073 STYLE GP-570 MALE &
GP-024-0608 38 112 LIPS LS 4 .o =l PART # HOSE Ty FEM
GP-024-06012 38 34 GP-073-01206 3/4 3/8 m:fjm THREADS GP-575-08M16MIGFA 1/2  M16 M16
GP-024-08012 112 3/4 gg &g gaA?S fuaow GP-073-01208 34 12 STYLE XD-16
o PART # HOSE NPT HEX HEAD DRAIN COCK
SINEEGR-LeS ﬂsvt;l\-EA?Hz-on? I‘I?:PLE GP-570-0402 1/4 1/8 i
REDUCING BUSHES PART # NPSF STYLE GP-072 e PART # DRAIN COCK
Metric ADAPTOR - BRASS GP-570-0404 1/4 1/4
e o NPT GP-034-02 /8 Imperial to Imperial PART # NPT METRIC GP-570-0406 1/4 3/8 XD-16 1/4 NPT HEX HEAD
GP-034-04 174 PART # NPSF NPT GP-570-0604 3/8 1/4 - ' <
GP-024-MIGM2A  M16 M2 P034.06 7 R I STYLE GP-579
GP-072-0202 118 18 GP-073-04M16A  1/4 M16 GP-570-0606 38 3/8 90 DEG HOSE BARB
GP-034-08 e GP-072-0402 1/4 118 GP-073-06M16A  3/8 M16 GP-570-0608 i 2 EES
GP-034-012 3/4 GP-570-08012 12 3/4
) GP-072-0404 1/4 14 GP-073-06M2A 38 M2 PART# R
GP-570-0802 12 1/8
GP-072-0602 3/8 1/8 GP-073-012M22A 3/4 M22 GP-579-0402 1/4 1/8 STYLE XD-16
GP-570-0804 12 1/4 WING NUT DRAIN COCKS
GP-072-0604 3/8 1/4 72 GP-579-0602 3/8 1/8 Imperial
/ / GP-073-M16M22A  M16 M22 e — - - N s »
= = N a PART # DRAIN COCK
GP-072-0606 3/8 3/8 STYLE GP-073 SRy Rp— . -
GP-072-0804 112 /4 UNEQUAL HEX NIPPLE - STEEL ] 5/8 " GP-579-0606 3/8 3/8 XD-16-02W 1/8 NPT WING NUT
Imperial
STYLE GP 025 GP-072-0806 1/2 3/8 GP-570-01006 5/8 3/8 GP-579-0608 3/8 1/2 XD_]6_04W 1/4 NPT W|NG NUT
= PART # NPT NPT
90 DEG MALE - FEMALE ELBOW GP-072-0808 12 1/2 GP-570-01008 5/8 12 GP-579-0806 12 3/8 XD-16-06W 3/8 NPT WING NUT
Imperial STYLE GP-035 GP-072-01208 34 12 GP-073-0604B 3/8 1/4 GP-570-010012 5/8 3/4 GP-579-0808 12 1/2 XD-16-08W 1/2 NPT WING NUT
PART # NPSF NPT r::ph:rSLE TEE GP-072-01208 34 38 GP-073-01208B 3/4 1/2 GP-570-01208 3/4 12 GP-579-01006 5/8 3/8
GP-025-02 1/8 1/8 D GP-570-012 3/4 3/4 GP-579-01008 5/8 12
PART # NPSF i ——
GP-025-0402 1/ 8 i 4 GP-570-012016 34 1 GP-579-01208 34 112
GP-035-02 1/8 \
GP-025-04 v / @’, GP-579-012 w3
GP-035-04 1/4 - ff
GP-025-0604 38 1/4 ! N———’
GP-035-06 38 N——r/
GP-025-06 3/8 3/8 / =
GP-025-08 oo GP-035-08 12 STYLE GP-072 STYLE XD-16
ADAPTOR - BRASS STYLE GP-082 PULL CHORD DRAIN COCK
GP-025-012 3/4 3/4 STYLE GP-035 Imperial Female to Metric Male FEMALE - FEMALE Imperial
FEMALE TEE Includes Thrust Washer & O-Ring BULKHEAD CONNECTOR STYLE GP-570 PART # o
STYLE GP-025 Metric oART # I e HOSE BARBS -
90 DEG MALE - FEMALE ELBOW - METRIG METRIC THREADS GP-XD-16 1/4 NPT PULL CHORD
i | ial to Metric includes Thrust Washer & O-Ri h
Metric GP-072-08M12A 4 M12 PART # NPSF BSPP mperial to Metric includes Thrust Washer ing 4
PART # METRIC GP-035-M16 M16 GP-072-04M14A 4 Mia GP-082-0408B 1/4 3/4 PART # HOSE  METRIC 25\9&5 :-EOPS-ESBZ\‘)RB
GP-025S-M18 M18 GP-035-M22 M22 GP-072-04M16A 1/ M16 GP-082-08012F 1/2 3/4 GP-570-08M16A 12 M16 Metric Includes Nut, Thrust Washer & O-fing
GP-072-04M22A 1/4 M22 STYLE GP-082 Gl 2 22 PART # HOSE AE
MALE - FEMALE GP-570-012M22A 3/4 M22 STYLE GP-TW
GP-072-06M22A 38 M22 imperil b
THRUST
GP-072-08M22A 12 M22 PART # NPT NPSF BSPP Lt WASHER ~ O-RING
GP-072-08M26 12 M26X15 GP-082-08012B 172 12 34 GP-TW-M12 12mm
Thrust Washer & O-Ring not supplied for M26 GP-TW-M16 16mm
STYLE GP-026 G
: — P-TW-M22 22
SOCKET STYLE GP-048 p—>" o
Imperial 90 DEG MALE ELBOW _— == STYLE GP 673 GP-TWOR-M12 12mm
Imperial ] - GP-TWOR-M16 16mm
PART # NPSF : STYLE GP-571 COMPACT SILENCERS S TIOR S Y
GP-026-02 118 PART # NPT .':ﬁi BARB MALE RUN TEE imperiai -TWOR- .
GP-026-0402 18 x1/8 GP-048-02 1/8 PART # BSP
PART # HOSE HOSE NPT
GP-026-04 1/4 GP-048-04 /4 ilnﬁ)s PST(E)E7L2 GP-673-02 /8
! - : GP-571-080806  1/2 12 3/8
GP-026-0604 3/8 x 1/4 GP-048-0604 38X 1/4 Imperial Female to Metric Male STYLE GP-425 GP-673-04 14
Includes Thrust Washer & O-Ring 45 DEG MALE FEMALE ELBOW
GP-026-08 3 oroiee 9 PART # NPSF METRIC i
GP-026-0806 1/2x3/8 GP-048-08 12 PART # NPSF NPT
GP-072-06M16AB 3/8 M16 y
GP-026-08 112 GP-425-02 118 18 ( f STYLE GPBV-500
= . GP-072-08M16AB 1/2 M16 \ 1\:‘1 Gh BALL VALVES MALE/FEMALE
GP-026-012 3/4 !— GP-425-04 1/4 1/4 mj | Imperial
=y e —— ) 495 — = PART # VALVE
STYLE GP-026 —7 i GP-425-06 3/8 3/8 o
SOCKET s = | GP-425-08 12 12 STYLE GP-702 GPBV-500-01 12MX 1/2F
Metric e STYLE GP'573 TEE - MALE RUN TEE NPTS 'T' HANDLE
: GP-425-012 3/4 3/4 HOSE BARB TEE Imperial MINI BALL VALVE
PART # METRI h e GPBV-500-03 1/AM X 1/4 F
& o) BSP ‘T’ HANDLE
STYLE GP 064 PART # NPSF NPSF NPT 38 MX 38 F
GP-026-M12 M12 - GPBV-500-05 M
- s PLUG HEX PART# HOSE GP-702-02 "8 8 18 NPEJ:?/TSLE
-026- Imperial E72. GPBV-500-06 T
GP-026-M22 M22 STYLE GP-072 B . GP-702-04 S S :IAT;?BLL}:A:/':[L)\EE
-026- PART # NPT - P-573- 1
ADAPTOR - BRASS GP-573-03 Rk GP70206 38 38 38 GRG0
g e v il i b OP-o73-08 v GP-702-08 12 12 12 GPBV-500-08  prd iVER HANDLE
GP-064-04 1/4 PART # METRIC NPT GP-573-05 5/16
GP-573-06 3/8
GP-064-06 3/8 GP-072-M1604 M16 1/4 o /
-573-08 12
GP-064-08 172 GP-072-M1606 M16 3/8 STYLE GP-425S
GP-064-012 34 45 DEG MALE - FEMALE GP-573-010 5/8
GP-072-M1608 M16 12 ﬁnv:;\gl. ELBOW g 38
GP-064-016 1 GP-072-M1808 M18 12
PART # NPSF NPT
GP-072-M22F012 M22 3/4
DN ACRORSD 2 GPamS0s U 1 STYLE GP-735 SNEE OFEAE00
HEX NIPPLE - IMPERIAL o A / / BALL VALVES FEMALE/FEMALE
Imperial \@ ITnpreri-clMALE BRANCH TEE Imperial
PART # NPT e |
b= ﬁg!é' E A?BPJ-(\:I-,IZJgR PART # NPSF NPT NPSF PART # RaRE
o o 1/2FX1/2F
GP-027-02 1/8 Imperial GP-735-02 1/8 1/8 1/8 GPBV-500-02 NPTS 'T' HANDLE
P-027-04 1/4 12FX1/2F
GP-027-0 / PART # HOSE GP-735-04 VA& s 1 GPBV-500-04 NPTS LEVER HANDLE
GP-027-06 3/8 " 3/8FX3/8F
STYLE GP-064B GP-574-02 1/8 GP-735-06 38 38 38 GPBV- 500-09 NPYS T HANDLE
GP-027-08 1/2 PLUG HEX - STEEL y
oo STYLE GP-072 STYLE GP-434 GP-574-03 3/16 GP-735-08 72 12 12 GPBV-500-10 N —
GP-027-012 3/4 ADAPTOR - STEEL 45 DEG FEMALE ELBOW GP-574-04 ne
PART # NPT Metric Female to imperial Male Imperial
STYLE GP-027 GP-574-05 ik GP TRUCK PRODUCTS _y
- GP-064-04B 1/ PART # METRIC NPT PART # NPSF
STEEL HEX NIPPLE GP-574-06 B Victoria, Australia
RSl GP-064-06B 3/8 GP-072-M1604B  M16  Fx1/4M GP-434-02 /8 GP-574-08 12" ' 2>
oARTH . o : ) 5072116068 " / o . Phone +61 3 95801811
-064-08 1/2 -072-M1608 16 1/2 -434-04 1/8 574 "
6P-574-010 5/8 Fax +61 3 95801822 @
GP-027-08B 1/2 GP-064-012B 3/4 GP-072-M2208B M22  Fx12M GP-434-06 3/8 GP-574-012 3/4 sales@gptruckproducts.com.au
Allen Key version available PO.A. WWngTrUCKprOductscomqu TRU@.I«PR@BU



